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Name

Test Center
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Test Time 1:00 PM - 2:30 PM
Subject Technician B (Fitter)

Q.1
When a dimension is expressed as 25*%935/-0025mm, then the tolerance

is

a) 0.035mm
b) 0.025mm
¢) 0.01Tmm
d) 0.06mm
Ans X 1.a
S 2.b
X 3.c
o 4.d

Question ID : 8199736230
Option 1 ID : 81997324273
Option 2 ID : 81997324274
Option 3 ID : 81997324275
Option 4 ID : 81997324276
Status : Answered
Chosen Option : 1




Q.2

v § SR a9 U BT RO g1 TPl 8
a) IFC BT HEAT HR U

b) e BT el TSI 3R fhad &% fed ST

¢) St R PIg YHTE T8

d) STa=TH SHoll b THRU gg I=adR THIE! Rawma

Ans X 1.a
& 2.b
K 3¢
X ad
Question ID : 8199736196
Option 11D : 81997324137
Option 2 ID : 81997324138
Option 3 1D : 81997324139
Option 4 ID : 81997324140
Status : Answered
Chosen Option : 1
Q.3
3P AfET # 3 TS &1 99 HTHIN AT waTs Hedl, wa:
a) 30dCIs fou auT o urg & ol BT g HR IR & I & HH B
b) SadCs feu auT oY U & o9 BT g HR IR & o0 I AR B
¢) afe Soiaere feu quT 99 uIg & o &I g, SR dR & A & T FHH
2
d) SUgad & ¥ PIs ol |
Ans X 1.a
X 2b
o« 3.C
X 4ad
Question ID : 8199736169
Option 1 ID : 81997324029
Option 2 ID : 81997324030
Option 3 ID : 81997324031
Option 4 ID : 81997324032
Status : Answered
Chosen Option: 3




Q.4

The maximum interference in mm after assembly between a bush of size

©20 mm (+0.06/+0.03) and shaft of size @20 mm (+0.05/-0.02) mm is

a) 0.11 mm
b) 0.02 mm
¢) 0.01 mm
d) 0.04 mm
Ans X 1.a
W 2.0
X 3.c
X 4.d
Question ID : 8199736216
Option 11D : 81997324217
Option 2 ID : 81997324218
Option 3 ID : 81997324219
Option 4 ID : 81997324220
Status : Answered
Chosen Option : 3
Q.5
Which among the following welding process does not require a
shielding gas?
a) MAG
b) MIG
c) TIG
d) SMAW
Ans X 1.a
X 2.b
X 3¢
W 4.d
Question ID : 8199736171
Option 1 ID : 81997324037
Option 2 ID : 81997324038
Option 3 ID : 81997324039
Option 4 ID : 81997324040
Status : Answered
Chosen Option : 4




Q.6

40 cm, 50 cm and 30 cm YSII3HT ATl FAY YT We W gHl e &
Uiferr o34 @1 arTd fat gRft? UTfersr #39 &1 €2 Rs. 2 Ufd 100 cm?
gl

a) Rs. 72
b) Rs. 36
c) Rs. 48
d) Rs. 24
Ans X 1.a
X 2b
X 3.c
o 4.d
Question ID : 8199736210
Option 11D : 81997324193
Option 2 ID : 81997324194
Option 31D : 81997324195
Option 4 ID : 81997324196
Status : Answered
Chosen Option : 2
Q.7
Tes B & Ugd il T o Fiwrea & e Sugea IR foryor
P PEd &
a) YUIqHd
b) Ul
c) UIsHY
d) Fam
Ans X 1.a
w 2.b
X3¢
X 4.d
Question ID : 8199736159
Option 11D : 81997323989
Option 2 ID : 81997323990
Option 31D : 81997323991
Option 4 ID : 81997323992
Status : Answered
Chosen Option : 2




Q.8

bending
a) Trunnion jig
b) Plate jig

c) Sandwich jig

Which drill jig is ideal for drilling thin and soft workpieces for avoiding

d) Box jig
Ans X 1.a
K 2.b
o« 3.C
X 4.d
Question ID : 8199736195
Option 1 ID : 81997324133
Option 2 1D : 81997324134
Option 3 1D : 81997324135
Option 4 ID : 81997324136
Status : Answered
Chosen Option : 2
Q.9
The tension in the bolt which creates a clamping force is called
a) Yield strength
b) Preload
¢) Tensile strength
d) Endurance limit
Ans X 1.a
W 2.b
X 3.c
X 4.d
Question ID : 8199736187
Option 1 ID : 81997324101
Option 2 ID : 81997324102
Option 31D : 81997324103
Option 4 ID : 81997324104
Status : Answered
Chosen Option : 1




Q.10

FHTT Fredm W 7=i JRem atf & 3R g & & Hi-ar e g2

a) Wﬂ'ﬁﬂ:{ﬁ:{g‘m

b) A R Hf 78 g1

o) 7 quft 91 BT o 98 I TR @ @

d) A T UeTer 381 e FHS fSHT Triferd = &1 I -1}

HIAT
Ans X 1.a
X 2b
X 3.c
o 4.d
Question ID : 8199736224
Option 1 ID : 81997324249
Option 2 ID : 81997324250
Option 3 1D : 81997324251
Option 4 ID : 81997324252
Status : Answered
Chosen Option : 4
Q.11
fpeft emg BT UR 7a1 F 150 kgf 3R TN & 100 kgf B 1 UTg FT UG
fraT 82
a) 1500 kg/m?
b) 3000 kg/m3
) 7000 kg/m?
d) 900 kg/m3
Ans X 1.a
w 2.b
X 3¢
X 4.d
Question ID : 8199736204
Option 11D : 81997324169
Option 2 ID : 81997324170
Option 3 1D : 81997324171
Option 4 ID : 81997324172
Status : Not Answered
Chosen Option : --




Q.12

foret e & Te @1 Bear 2 W, g 3iv andh &1 dars 4 #1. g1 @e &1

Qe T g
a) 2m?
b) 4 m?
c) 16 m?
d) 36 m?
Ans X 1.a
o« 2.b
X 3.c
X 4a.d

Question ID : 8199736206
Option 1 ID : 81997324177
Option 2 ID : 81997324178
Option 31D : 81997324179
Option 4 1D : 81997324180
Status : Answered
Chosen Option : 3

Q.13
g Bt ftrdaw Tar aut ATy F gHaw A S 9 F SR B Fed &

a) faga

b) gTRE/3Uid

¢) eI

d) SWH ¥ BT el

Ans X 1.a
S 2.b
o 3.C
& 4.d

Question ID : 8199736182
Option 11D : 81997324081
Option 2 ID : 81997324082
Option 3 ID : 81997324083
Option 4 ID : 81997324084
Status : Answered
Chosen Option : 3




Q.14

Fafte Te Ui g, Sed s el Afva e e @:

Ans X 1.a
X 2.b
K 3¢
& 4.d

Question ID : 8199736193
Option 1 ID : 81997324125
Option 2 ID : 81997324126
Option 3 ID : 81997324127
Option 4 ID : 81997324128
Status : Answered
Chosen Option : 2

Q.15

e & -0 iR s uRear
a) SIYEA SFIRE

b) SIS &I

¢) ABYUTH 3HIR&IT

d) WfdRid SR

Ans X 1.a
& 2.
X3¢
X 4.d

Question ID : 8199736198
Option 1 ID : 81997324145
Option 2 ID : 81997324146
Option 3 ID : 81997324147
Option 4 ID : 81997324148
Status : Answered
Chosen Option : 3




Q.16

.39, & IUR XY T pm A fpform & Rrg wag soikar @
et W v @

a) 0.05to0 0.1
b) 1.6to6.3
c) 0.2t0 0.8
d) 12.5t0 25
Ans X 1.a
W 2.b
X 3.c
X 4.d
Question ID : 8199736231
Option 11D : 81997324277
Option 2 ID : 81997324278
Option 3 ID : 81997324279
Option 4 1D : 81997324280
Status : Answered
Chosen Option : 4
Q.17
PDCA &7 313 &:
a) PICK, DO, CHOOSE, APPLY
b) PICK, DEAL, CHANGE, ASSURE
c) PLAN, DO, CHECK, ACT
d) PLAN, DISCUSS, CHECK, APPLY
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736194
Option 11D : 81997324129
Option 2 ID : 81997324130
Option 3 ID : 81997324131
Option 4 ID : 81997324132
Status : Answered
Chosen Option : 4




Q.18

$Y ¢ BT ST fbar Sirar &:
a) dfgfdte dgeit & grem 3 & fo
b) ¢ I Al Us— ¥ A & forw
¢) W7 B & foIe A e & Ty
d) ST H ¥ PIS T8l
Ans 1.2
X 2.b
K 3¢
X 4.d
Question ID : 8199736189
Option 11D : 81997324109
Option 2 ID : 81997324110
Option 3 1D : 81997324111
Option 4 ID : 81997324112
Status : Answered
Chosen Option : 3
Q.19
TP HTeUP ged O TR ) HIH TR, S gedd o *Ers us, & ogd
a) ¥ ga
b) RRER 9
¢) dRA g
d) 3MYR Il
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736197
Option 1 ID : 81997324141
Option 2 ID : 81997324142
Option 31D : 81997324143
Option 4 ID : 81997324144
Status : Answered
Chosen Option: 3




Q.20

1.0 mm pitch for hacksaw blades fall in which among the following

category

a) Fine Pitch

b) Coarse Pitch
c) Very Fine Pitch

d) Medium Pitch

Chosen Option :

Ans X 1.a
X 2.b
X 3.c
o 4.d
Question ID : 8199736154
Option 1 ID : 81997323969
Option 2 ID : 81997323970
Option 31D : 81997323971
Option 4 ID : 81997323972
Status : Answered
Chosen Option : 4
Q.21
Tiie urg S & 'y wETe 1 e o 82
a) U T 2 898 & UER ¥ o1 & Ths & e
b) ST O H GG YT &1 G111 U4 AIGHISS &I AIH HAT
() XS I s IR YT IGHR S W UeR TP SUD! g Pl Gg ST
d) YT & IRT 3R I 3R] gl
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736157
Option 1 ID : 81997323981
Option 2 ID : 81997323982
Option 31D : 81997323983
Option 4 ID : 81997323984
Status : Answered

1




Q.22

Arc welding electrode connected to positive terminal of power supply

is called

a) Straight Polarity
b) Reverse Polarity
c) Direct Polarity

d) Indirect Polarity

Ans X 1.a
o 2.
X 3.c
X 4.d
Question ID : 8199736168
Option 1 ID : 81997324025
Option 2 ID : 81997324026
Option 31D : 81997324027
Option 4 ID : 81997324028
Status : Answered
Chosen Option : 1
Q.23 . ),
15 .91, &1 t& aieR aieT U Sfas Tas W 3@ | 916 3R a8 &
e Tefur T OIS 0.15 §1 9199 B 15 . f@eE & e fbaw &rd #t
HTIGH AT gHI? (o BT @RV, g = 10 m/s2 TH)
a) 406.8 Nm
b) 450.2 Nm
¢) 337.5Nm
d) 100.9 Nm
Ans X 1.a
K 2.b
o 3.cC
X 4.d
Question ID : 8199736205
Option 11D : 81997324173
Option 2 ID : 81997324174
Option 3 ID : 81997324175
Option 4 ID : 81997324176
Status : Not Answered
Chosen Option : --




Q.24

Ans

For an interference fit, the difference between the size of the hole and

the shaft before assembly is

a) Zero
b) Negative
c) Positive

d) None of the above

X la
& 2.b
X 3.c
X 4.d

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

8199736179

81997324069
81997324070
81997324071

: 81997324072
: Answered
Chosen Option :

1




Q.25

FAR F A T FT AR R

d) Smsere

Ans X 1.a
& 2.b
K 3¢
X 4.d

Question ID : 8199736153
Option 1 ID : 81997323965
Option 2 ID : 81997323966
Option 3 ID : 81997323967
Option 4 ID : 81997323968
Status : Answered
Chosen Option : 2




Q.26

Uyd T s s AN I FaE S A IR oI 8:
a) RITHT AU HH A HETH FHle- ST

b) f=1 a1 Hegw ST ST

¢) IfHd U1 B fHsfeng Wi

d) AT Higd HerH Pra Lid

Ans X 1.a
& 2.
K 3¢
X 4.d

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

8199736188

81997324105
81997324106
81997324107
81997324108
Not Answered

Q.27
----------------- is an example of transition fit
a) Running fit
b) Expansion fit
c) Wringing fit
d) Shrinkage fit
Ans X 1.a
K 2.b
o 3.c
X 4.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8199736214
81997324209
81997324210
81997324211
81997324212
Answered

1




Q.28

TOo A 98U o1 A F 1w Suged Rde &1 yeR |1 8?

a) aﬁ%@'ﬁﬂz
b) X(FATHR &8 e

) PR Wb de

Chosen Option :

d) Hugs fde
Ans X 1.a
S 2.b
o 3.cC
X 4.d
Question ID : 8199736160
Option 11D : 81997323993
Option 2 ID : 81997323994
Option 3 1D : 81997323995
Option 4 ID : 81997323996
Status : Answered
Chosen Option : 2
Q.29
TEIT § OId BT 1 Uiawd g¢dT & a9 PHEAE
a) e gfeRiy
b) TRA T
¢) TR
d) dgdr
Ans X 1.a
X 2.b
X3¢
o 4.d
Question ID : 8199736217
Option 1 ID : 81997324221
Option 2 ID : 81997324222
Option 31D : 81997324223
Option 4 ID : 81997324224
Status : Answered

3




Q.30

Toug_ e fhyug®:
a) TTaT 3R SRl

b) T o fea1

¢) dfer 3R fa

d) dfeT 3R e

Ans 1.2
X 2.b
K 3¢
K 4.d

Question ID : 8199736180
Option 1 ID : 81997324073
Option 2 ID : 81997324074
Option 3 ID : 81997324075
Option 4 ID : 81997324076
Status : Answered
Chosen Option : 2

Q.31
WYH IYAR (First Aid) BT ABC FITE ?
a) Airway, Breathing and Circulation
b) Ambulance, Blood Donation & CPR
c) Assistance, Byestanding & Coordination
d) Attention, Balance & Care
Ans 1.2
X 2.b
X 3¢
K 4.d

Question ID : 8199736225
Option 1 ID : 81997324253
Option 2 ID : 81997324254
Option 3 ID : 81997324255
Option 4 ID : 81997324256
Status : Answered
Chosen Option : 1




Q.32

Tf 1000 kg HR 33T F I TATIS TART 400 kg & 3R AT U 5

2, o 7= 9t Saurewar feast gtz
a) 80%
b) 60%
c) 50%
d) 40%
Ans X 1.a
K 2.b
o 3.C
X 4.d
Question ID : 8199736211
Option 1 ID : 81997324197
Option 2 ID : 81997324198
Option 3 ID : 81997324199
Option 4 1D : 81997324200
Status : Answered
Chosen Option : 4
Q.33
frafafea & 9 sRRféa gd=ig w3 9arse
a) Fdifea & & = =16t aermn
by T 81 & degd BT el F
¢) AR ¢ &3 9 Ugd g1 41g o a1
d) T2 T T &ifcvRe SfTR &1 qRa Wiawfid e
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736222
Option 1 1D : 81997324241
Option 2 ID : 81997324242
Option 3 ID : 81997324243
Option 4 ID : 81997324244
Status : Answered
Chosen Option: 3




Q.34

B imk-a & fore IuaT fvar wiran &
a) TY (@) H S BT Ul

b) WY (1) H IUBRUT BT TRI&UT 3R TG

) STF H I PIs
d) ST H ¥ PIS T8l
Ans X 1.a
& 2.b
K 3¢
X 4.d
Question ID : 8199736184
Option 11D : 81997324089
Option 2 ID : 81997324090
Option 3 1D : 81997324091
Option 4 ID : 81997324092
Status : Answered
Chosen Option : 2
Q.35
Which among the following caste iron types is also called as Ductile cast
iron?
a) Malleable cast iron
b) Nodular cast iron
¢) Grey cast iron
d) White cast iron
Ans X 1.a
o 2.b
X 3.c
X 4.d
Question ID : 8199736177
Option 1 ID : 81997324061
Option 2 ID : 81997324062
Option 31D : 81997324063
Option 4 ID : 81997324064
Status : Answered
Chosen Option : 3




Q.36

Rectifier set is used to:

a) Convert A.C. into D.C. welding supply
b) Convert D.C. into A.C. welding supply
c) Stepping up A.C. supply

d) Stepping Down A.C. Supply

Ans 1.2
X 2.b
K 3¢
X 4.d
Question ID : 8199736167
Option 11D : 81997324021
Option 2 ID : 81997324022
Option 3 1D : 81997324023
Option 4 ID : 81997324024
Status : Answered
Chosen Option : 2
Q.37
e 3T fife & 3HT (Allowance) TS ATATIG: fra® Gefig sear g
a) TMUE 3R 5% & s e e
b) MU 3R &g & o9 Hf¥ean Fepra-
¢) YT 3R &g o) Terd &1 iR
d) AT 3R HfIHaH MER & B F I 3R
Ans 1.2
X 2.b
X 3¢
X 4.d
Question ID : 8199736213
Option 11D : 81997324205
Option 2 ID : 81997324206
Option 3 ID : 81997324207
Option 4 ID : 81997324208
Status : Answered

Chosen Option :

1




Q.38

aRafae dars 1 1t g1 i 31 darg 5 Q.. §1 ufafftce ges ya a8

a) 1/5
b) 20
) 1/20
d)5

Ans X 1.a
X 2b
o« 3.C
X 4.d
Question ID : 8199736228
Option 1 ID : 81997324265
Option 2 ID : 81997324266
Option 3 ID : 81997324267
Option 4 1D : 81997324268
Status : Answered
Chosen Option : 2
Q.39
Frafafea & & o1F-a1 Qe & yia wadh i g &
a) dMHHAP
b) Il X
¢) Tefod
d) H9 &dd
Ans X 1.a
" 2.b
X 3¢
X 4.d
Question ID : 8199736223
Option 1 ID : 81997324245
Option 2 ID : 81997324246
Option 3 ID : 81997324247
Option 4 ID : 81997324248
Status : Answered
Chosen Option: 2




Q.40

il 13T 7Y argdig g &l ygani-e:
a) &9 T
b) ftheex
) HEP
d) g
Ans o 1.2
K 2.b
X3¢
Xo4.d
Question ID : 8199736200
Option 1 ID : 81997324153
Option 2 ID : 81997324154
Option 31D : 81997324155
Option 4 ID : 81997324156
Status : Answered
Chosen Option : 4
Q.41
Tfe TR UfIad 40 kg/mm? 3R RN FRS 2 8, a1 7 A H. = F uig
F aR A fFan a1 &1 UR Rt Fu A Fefya fear s aear g2
a) 502 kg
b) 770 kg
c) 650 kg
d) 785 kg
Ans X 1.a
& 2.b
K 3¢
X 4.d
Question ID : 8199736209
Option 11D : 81997324189
Option 2 ID : 81997324190
Option 31D : 81997324191
Option 4 ID : 81997324192
Status : Not Answered

Chosen Option :




Q.42

Lower Critical temperature for plain carbon steels

a) 852°C
b) 810°C
c) 723°C
d) 680°C
Ans X 1.a
X 2.b
o 3.C
X 4.d
Question ID : 8199736218
Option 11D : 81997324225
Option 2 ID : 81997324226
Option 3 ID : 81997324227
Option 4 ID : 81997324228
Status : Answered
Chosen Option : 3
Q.43
SR 3t uRrsar & #:
a) 0.5 mm
b) 0.05 mm
c) Tmm
d) 0.25 mm
Ans 1.2
S 2.b
K 3¢
X 4.d
Question ID : 8199736152
Option 11D : 81997323961
Option 2 ID : 81997323962
Option 31D : 81997323963
Option 4 ID : 81997323964
Status : Answered

Chosen Option :

1




Q.44

TS g e BIsa & T HH: iavee qUT 3uee Y & g Hor a1 82

a) 70°Td 51°
b) 60° Td 51°
) 51°Td 70°
d) 60° T4 70°
Ans 1.2
X 2.b
K 3¢
X 4.d
Question ID : 8199736155
Option 11D : 81997323973
Option 2 ID : 81997323974
Option 3 ID : 81997323975
Option 4 ID : 81997323976
Status : Answered
Chosen Option : 3
Q.45
AT A Tds s M S R FT gA &2
a) e o x (1.3 ~1.6)
b) f¥de &ams x (1.3 ~1.6)
c) Rde & x (0.8 ~1.2)
d) f¥de e x (0.8 ~1.2)
Ans 1.2
X 2.b
X3¢
X 4.d
Question ID : 8199736161
Option 1 1D : 81997323997
Option 2 ID : 81997323998
Option 3 1D : 81997323999
Option 4 ID : 81997324000
Status : Answered
Chosen Option : 1




Q.46

Jegd HaH ¥ uged faggaxidh Rae & forg #19 9 avg &1 SughT gan

a) f¥ferT
b) A
) diar
d) gy
Ans X 1.a
W 2.b
X 3.c
X 4.d
Question ID : 8199736164
Option 1 ID : 81997324009
Option 2 1D : 81997324010
Option 31D : 81997324011
Option 4 ID : 81997324012
Status : Answered
Chosen Option : 2
Q.47
o S feafén & sgye &Y e @:
a) By
b) 4&al
) UEYs
d) Sy
Ans o 1.2
X 2.b
X 3.c
X 4.d
Question ID : 8199736162
Option 1 ID : 81997324001
Option 2 ID : 81997324002
Option 3 ID : 81997324003
Option 4 ID : 81997324004
Status : Answered

Chosen Option :

1




Q.48

Td Are & fo:
a) g o g g @
b) % &1 S0 fAaT I @
o) A% BT 1 e g B
d) T BT S FA=eT R
Ans X 1.a
X 2.b
K 3¢
o 4.d
Question ID : 8199736192
Option 11D : 81997324121
Option 2 ID : 81997324122
Option 3 1D : 81997324123
Option 4 ID : 81997324124
Status : Answered
Chosen Option : 1
Q.49
Drill size for a reamed hole is:
a) Drill size = Reamed size — (Undersize + Oversize)
b) Drill size = Reamed size + (Undersize + Oversize)
c) Drill size = Reamed size — (Undersize - Qversize)
d) Drill size = Reamed size + (Undersize - Oversize)
Ans 1.2
X 2.b
X3¢
X 4.d

Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8199736176
81997324057
81997324058
81997324059
81997324060
Answered

1




Q.50

Sregfiieram 9 Hg urg & e vged 42 §¢ f¥a & 7R @) o &
a) MY gfed fga

b) TiE eferay fga

o) % gfera fga

d) A9 efcey fga

Ans X 1.a
X 2.b
o 3.c
K 4.d

Question ID : 8199736172
Option 1 ID : 81997324041
Option 2 ID : 81997324042
Option 3 1D : 81997324043
Option 4 ID : 81997324044
Status : Answered
Chosen Option : 2

Q.51
e P gg T a7 ARMG1 HT 98 91 7 R Id W fHe o aredt
I IUAR Uihar g
a) BIGRRIT
b) e
¢) ATgEISiET
d) SWIFd § A DI T8l
Ans X 1.a
o 2.b
X 3¢
X 4.d

Question ID : 8199736220
Option 11D : 81997324233
Option 2 ID : 81997324234
Option 3 ID : 81997324235
Option 4 ID : 81997324236
Status : Answered
Chosen Option: 2




Q.52

&l & Y FHE1/SATUYRIT I IW & o1 I o3k 1 3MTHR ¢ #t

wirar #1 Fgd 7
a) %ﬁl”'l
b) TafSHT
o) Eﬁ"T
d) ST B ¥ BIs T8l
Ans X 1.a
K 2.b
o 3.C
X 4.d
Question ID : 8199736183
Option 1 ID : 81997324085
Option 2 ID : 81997324086
Option 3 1D : 81997324087
Option 4 ID : 81997324088
Status : Answered
Chosen Option: 3
Q.53
Which Type of drill is used for drilling normal low carbon steels?
a) Type W
b) Type S
c) Type N
d) Type A
Ans X 1.a
K 2.b
o 3.C
X 4.d
Question ID : 8199736173
Option 1 ID : 81997324045
Option 2 ID : 81997324046
Option 3 ID : 81997324047
Option 4 ID : 81997324048
Status : Answered
Chosen Option : 2




Q.54

THY SUSHI0 gHTRT (353 8

a) Ul x SdIqehdl x UTdedl
b) TG x SREUITAT x U
¢) TUIGwT x JUASRAT x TRIEI

d) SFIREMOTICT x GARTAT x TOra
Ans 1.2
X 2.b
K 3¢
X 4d
Question ID : 8199736186
Option 11D : 81997324097
Option 2 ID : 81997324098
Option 3 ID : 81997324099
Option 4 1D : 81997324100
Status : Answered
Chosen Option : 2
Q.55
A.C. welding supply has:
a) low ampere - high voltage
b) high ampere - high voltage
c) high ampere - low voltage
d) low ampere - low voltage
Ans X 1.a
X 2.b
o 3.cC
X 4d
Question ID : 8199736166
Option 11D : 81997324017
Option 2 ID : 81997324018
Option 3 ID : 81997324019
Option 4 ID : 81997324020
Status : Answered

Chosen Option :

1




Q.56

80 .30t /6e AT & 79 TE R Bt 60 AFs A T @¥E A far wmar g1
PR GRI ATYT a1 a7 sratie a1 we famm ghme?

a) 0.37 meter/second?
b) 1.33 meter/second?
¢) 0.33 meter/second?

d) 1.37 meter/second?

Ans 1.2
K 2.b
X 3.c
X 4.d
Question ID : 8199736203
Option 1 ID : 81997324165
Option 2 ID : 81997324166
Option 3 ID : 81997324167
Option 4 1D : 81997324168
Status : Answered
Chosen Option : 2
Q.57
TR eI R ggqam s fegad ... Hull
a) H IRYTH
b) IR RUTH
) FHM 3fRUTH
d) Sudad ° ¥ PIs 181
Ans o 1.2
X 2b
X 3.c
X 4.d
Question ID : 8199736174
Option 1 ID : 81997324049
Option 2 ID : 81997324050
Option 3 ID : 81997324051
Option 4 ID : 81997324052
Status : Answered

Chosen Option :

3




Q.58

AR Era & R g saf g
a) SUTld HegA

b) ¥e- H a8l 9%

o SUUR

d) I=d HUd <1 & fdifd Sad HR

Ans X 1.a
X 2.b
K 3¢
& 4.d

Question ID : 8199736201
Option 1 ID : 81997324157
Option 2 ID : 81997324158
Option 3 ID : 81997324159
Option 4 ID : 81997324160
Status : Answered
Chosen Option : 4

Q.59
Heat treatment by which the toughness and shock resistance is induced

in Steel is

a) Annealing
b) Normalising
¢) Tempering
d) Hardening

Ans X 1.a
& 2.b
o 3.C
X 4.d

Question ID : 8199736190
Option 11D : 81997324113
Option 2 ID : 81997324114
Option 31D : 81997324115
Option 41D : 81997324116
Status : Answered
Chosen Option: 3




Q.60

i & fog Ffif@a A d s-wradt At &
a) e Heren g IO exar g

b) J= UG ATl Helg S &

o) I= TR A ST Rl &

d) B fsgl o1 e & e ot e ufgpanait & 78 wR_7 o1 gepat

Ans X 1.a
X 2.b
o 3.cC
X 4.d
Question ID : 8199736175
Option 1 1D : 81997324053
Option 2 ID : 81997324054
Option 3 ID : 81997324055
Option 4 ID : 81997324056
Status : Answered
Chosen Option : 3
Q.61
Chipless threads are generated by
a) Gun Taps
b) Thread forming taps
) Spiral fluted taps
d) Helical fluted taps
Ans X 1.a
« 2.b
X3¢
X 4.d
Question ID : 8199736178
Option 1 1D : 81997324065
Option 2 ID : 81997324066
Option 3 ID : 81997324067
Option 4 ID : 81997324068
Status : Answered
Chosen Option : 2




Q.62
Carbide cutting tools will have

a) Zero rake angle
b) Positive rake angle
c) Negative rake angle

d) None of these

Chosen Option :

Ans X 1.a
X 2.b
o 3.cC
X 4.d
Question ID : 8199736185
Option 11D : 81997324093
Option 2 ID : 81997324094
Option 3 ID : 81997324095
Option 4 ID : 81997324096
Status : Answered
Chosen Option : 1
Q.63
Identify the fit H7j6 from the following
a) Clearance fit
b) Transition fit
) Interference fit
d) none of these
Ans X 1.a
o 2.b
X3¢
X 4.d
Question ID : 8199736229
Option 11D : 81997324269
Option 2 ID : 81997324270
Option 3 ID : 81997324271
Option 4 ID : 81997324272
Status : Answered

1




Q.64

How many number of cuts will be there over a length of 10mm for a

250mm long Bastard file ?

a) 11
b) 15
c) 10
d) 30
Ans X 1.a
K 2.b
o 3.C
X 4.d
Question ID : 8199736156
Option 1 ID : 81997323977
Option 2 ID : 81997323978
Option 31D : 81997323979
Option 4 ID : 81997323980
Status : Answered
Chosen Option : 2
Q.65
Name the tool used for hole alignment during riveting
a) Rivet Snap
b) Rivet Set
c) Dolly
d) Drift
Ans X 1.a
K 2.b
X 3.c
o 4.d
Question ID : 8199736163
Option 1 ID : 81997324005
Option 2 ID : 81997324006
Option 3 ID : 81997324007
Option 4 ID : 81997324008
Status : Answered
Chosen Option : 2




Q.66

Which of the following has the highest hardness number?
a) Martensite
b) Tempered Martensite
¢) Coarse Pearlite

d) Fine pearlite

Ans 1.2
X 2.b
X 3.c
X 4.d
Question ID : 8199736219
Option 11D : 81997324229
Option 2 ID : 81997324230
Option 3 ID : 81997324231
Option 4 ID : 81997324232
Status : Answered
Chosen Option : 2
Q.67
et ufdifeeiF das & e ufifedh 1 & ysrur 3 RifegsR o1 @ @
Bl g?
a) A
b) AR
c) DIl
d) diem
Ans 1.2
K 2.b
X 3.c
X 4.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

8199736165
81997324013
81997324014
81997324015
81997324016
Answered

Chosen Option : 3




Q.68

o SmuTid M, 31 Y B i Joft A et 22

a) CLASS A
b) CLASS B
c) CLASSC
d) CLASS D
Ans X 1.a
" 2.b
K 3¢
K 4.d
Question ID : 8199736226
Option 1 ID : 81997324257
Option 2 ID : 81997324258
Option 3 ID : 81997324259
Option 4 ID : 81997324260
Status : Answered
Chosen Option : 2
Q.69

91 T G919 G 3R TTA 3MTUT B TR BT ATqa- b1 gim?

a) Jd & 3Maa- &1 2 T
b) Od & SR BT 4 7T
¢) Jd & 3MTIaH P Y
d) gd & 3aa & JHH
Ans X 1.a
X 2b
« 3.C
X 4.d

Question ID : 8199736207
Option 11D : 81997324181
Option 2 ID : 81997324182
Option 31D : 81997324183
Option 4 ID : 81997324184
Status : Answered
Chosen Option : 3




Q.70

T & o ward & fore FPraferee A @ o wdt adi @2
a) SRR 3

b) 48 YT & TRl B SR a1 &

o) Tl s ASTE Tfed I=ar des Famor

d) 3roafe Taa auT ae=

Ans X 1.a
S 2.b
o 3.c
X 4.d
Question ID : 8199736170
Option 11D : 81997324033
Option 2 ID : 81997324034
Option'3 ID : 81997324035
Option 4 ID : 81997324036
Status : Answered
Chosen Option : 3
Q.71
6 38T ¥ TP ufeRIe® &) 4@ar § U Sa=H I SISl 9ial €, 9el 2 3R
4 3 & <) YfeRIyS FHHIR ©U 4 93 81 gfe X auy & die el 6
diee 8, ot feat fagya &1 yarg gam
a) 0.82 Amp
b) 1.87 Amp
c) 1.58 Amp
d) 2.00 Amp
Ans 1.2
X 2.b
X 3¢
X 4.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

8199736208

81997324185
81997324186
81997324187
81997324188
Not Answered




Q.72
Identify the type of seam in sheet metal working shown below

LLS

a) Inside Lap Seam
b) But Seam

¢) Sunk Lap Seam
d) Plain Lap

Ans X 1.a
S 2.b
o 3.C
& 4.d

Question ID : 8199736158
Option 11D : 81997323985
Option 2 ID : 81997323986
Option 3 1D : 81997323987
Option 4 ID : 81997323988
Status : Answered
Chosen Option: 3

Q.73
T IR & g1 Wra @) g it 1 A g sihaffar wsa d 10
yrT €1 afe affav Wra &1 Svur ui gy wha st ST d 30 A &
g ¥ a1g WA gkt & O 9w fpa 82
a) 30.20 mm
b) 30.40 mm
c) 30.24 mm
d) 30.14 mm
Ans X 1.a
o« 2.b
X 3.c
X 4.d

Question ID : 8199736215
Option 11D : 81997324213
Option 2 ID : 81997324214
Option 3 ID : 81997324215
Option 4 ID : 81997324216
Status : Answered
Chosen Option : 2




Q.74
Galvanizing is the process in which steel is coated with

a) Copper
b) Tin

c) Zinc

d) Lead

Ans X 1.a
X 2.b
& 3.c
K 4.d

Question ID : 8199736191
Option 11D : 81997324117
Option 2 ID : 81997324118
Option 3 1D : 81997324119
Option 4 ID : 81997324120
Status : Answered
Chosen Option : 3

Q.75
frft By & 30°, 60° 3iIR 90° BT F faudia Yome fFw srura o giift
a) 2:14/3
b) 1:v2:2
c) 1v/3:2
d) 122
Ans X 1.a
K 2.b
« 3.C
X 4.d

Question ID : 8199736202
Option 11D : 81997324161
Option 2 ID : 81997324162
Option 31D : 81997324163
Option 4 ID : 81997324164
Status : Answered
Chosen Option : 1




Q.76

Hardness of slip gauge should be?

a) 55 HRC
b) 20 HRC
) 34 HRC
d) 64 HRC
Ans X 1.a
X 2.b
X 3¢
& 4.d
Question ID : 8199736212
Option 1 ID : 81997324201
Option 2 ID : 81997324202
Option 3 ID : 81997324203
Option 4 ID : 81997324204
Status : Not Answered
Chosen Option : --
Q.77
FISGITY® UI5Y WIS Ud SHP gedl § JHax-9¢ 91g gaqgd Ud Uidhe &
PRI § FHdT &:
a) 3ERY
b) FAGAT ST G
¢) PIeAT (ERIe)
d) ag-sY
Ans X 1.a
X 2.b
o« 3.C
X 4.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

8199736199
81997324149
81997324150
81997324151
81997324152
Answered

4




Q.78

Ans

o 1.a
S 2.b
X 3¢
& 4.d

T B way H1 g @
P

d)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

8199736227

81997324261
81997324262
81997324263
81997324264
Not Answered




Q.79

TyoRIht 7ot wfed, Sar-da smenfya frgurg e 9afr s & fore
IUGRT foRaT ST @:

a) dEm
b) Udd
c) & o
d) Sfese u1g
Ans X 1.a
K 2.b
X 3.c
o 4.d
Question ID : 8199736181
Option 1 ID : 81997324077
Option 2 ID : 81997324078
Option 31D : 81997324079
Option 4 ID : 81997324080
Status : Answered
Chosen Option : 4
Q.80
frafafaa & ¥ 19 W avg &1 Toqi® Aftean @
a) diar
b) Srgfafraa
¢) TREA
d) T
Ans X 1.a
X 2.b
o 3.C
X 4.d

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

8199736221
81997324237
81997324238
81997324239
81997324240
Answered

Chosen Option : 3




